
Q.1 निम्नलिखित वाहनों  को तार्कि क और सार्थक क्रम में व्यवस्थित कीजिए।
1.कार
2.ट्रे न
3.साइकिल
4.ट्र क
5.ऑटो रिक्शा

Ans 1. 3, 5, 1, 4, 2

2. 3, 4, 5, 2, 1

3. 5, 1, 3, 2, 4

4. 3, 1, 5, 4, 2

Question ID : 26433094937
Status : Answered

Chosen Option : 1

Q.2 उस विकल्प का चयन करें  जो तीसरी संख्या से उसी प्रकार संबंधित है जिस प्रकार दू सरी संख्या पहली
संख्या से और छठी संख्या पांचवीं  संख्या से संबंधित है।

7 : 84 :: 5 : ? :: 9 : 144
Ans 1. 36

2. 40

3. 30

4. 45

Question ID : 26433057592
Status : Answered

Chosen Option : 2

Q.3 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) के  स्थान पर आएगी?
102, 100, ?, 96, 112

Ans 1. 104

2. 108

3. 98

4. 100

Question ID : 26433067617
Status : Answered

Chosen Option : 1

Stenographer Grade ‘C’ & ‘D’ Examination, 2022
Roll Number
Candidate Name
Venue Name  
Exam Date 17/11/2022
Exam Time 9:00 AM - 11:00 AM
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Q.4 एक निश्चित कू ट भाषा में, 'COUNTRY' को '3-15-21-14-20-18-25' के  रूप में लिखा जाता है और
'PEOPLE' को 16-5-15-16-12-5 के  रूप में लिखा जाता है। उसी भाषा में 'HIGHWAY' को किस रूप
में लिखा जाएगा?

Ans 1. 7-8-6-7-22-0-24

2. 8-9-7-8-23-1-25

3. 25-1-23-8-7-9-8

4. 25-1-22-7-6-8-7

Question ID : 26433067782
Status : Answered

Chosen Option : 2

Q.5 उस विकल्प का चयन करें  जो तीसरी संख्या से उसी प्रकार संबंधित है जिस प्रकार दू सरी संख्या पहली
संख्या से और छठी संख्या पांचवीं  संख्या से संबंधित है।

6 : 74 :: 9 : ? :: 5 : 52
Ans 1. 160

2. 168

3. 164

4. 172

Question ID : 26433057587
Status : Answered

Chosen Option : 3

Q.6 नौ व्यक्ति - अजय, राहुल, बीना, अजीत, कोमल, पवन, अंकित, आदित्य और कौशल - एक सीधी रेखा में
उत्तर की ओर अभिमुख होकर बैठे  हैं, लेकिन जरूरी नहीं  कि वे इसी क्रम में बैठे  हों ।
राहुल, बीना के  दायें चौथे स्‍थान पर है। कोमल, आदित्य के  बायें दू सरे  स्थान पर और अजय के  दायें चौथे
स्थान पर है, जो कि अजीत के  बायें पांचवें स्थान पर है। अजय, बीना के  ठीक पड़ोस में नहीं  है। आदित्य
दायें छोर पर बैठा है। पवन, राहुल के  ठीक पड़ोस में नहीं  है।
राहुल के  ठीक पड़ोस में कौन-कौन बैठा है?

Ans 1. कौशल, अंकित

2. कौशल, कोमल

3. अजय, अंकित

4. अजय, कोमल

Question ID : 26433056426
Status : Not Answered

Chosen Option : --

Q.7 उस विकल्प का चयन करें  जो उन अक्षरों  को निरूपित करता है, जिन्हें नीचे रिक्त स्थानों  में बाएँ  से दाएँ
रखने पर अक्षर श्रृंखला पूरी हो जाएगी।
U _ U M _ P _ U J _ M M P P _J U _ M P _

Ans 1. M M U U J P P 

2. J M P U U M P  

3. M J P U M U P 

4. J M M P U U P

Question ID : 26433068443
Status : Answered

Chosen Option : 2
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Q.8 यदि A का अर्थ '+' है, B का अर्थ '×' है, C का अर्थ '−' है, और D का अर्थ '÷' है, तो निम्नलिखित
समीकरण में '?' के  स्थान पर क्या आएगा?
(9 A 9 C 55 D 5) B ? = 10 B 3 A 5

Ans 1. 7

2. 5

3. 11

4. 4

Question ID : 26433067666
Status : Answered

Chosen Option : 2

Q.9 निम्‍नांकित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आएगी?

7, 15, 30, 62, 125, 253, ?
Ans 1. 580

2. 508

3. 408

4. 480

Question ID : 26433059929
Status : Answered

Chosen Option : 2

Q.10 उस विकल्प का चयन करें , जो पाँचवें अक्षर-समूह से उसी प्रकार संबंधित है, जिस प्रकार दू सरा अक्षर-
समूह पहले अक्षर-समूह से संबंधित है और चौथा अक्षर-समूह तीसरे  अक्षर-समूह से संबंधित है।
PAVE : FXDT :: AXLE : FNAE :: BREW : ?

Ans 1. XGTF

2. XGVF

3. XGUF

4. XHTF

Question ID : 26433056189
Status : Answered

Chosen Option : 3

Q.11 प्रिंस बिंदु  A से पूर्व की ओर 8 km ड्रा इव करता है। वह दाएं  मुड़ता है और 3 km ड्रा इव करता है। वह
फिर से दाएं  मुड़ता है और 5 km ड्रा इव करता है। वह फिर दाएं  मुड़ता है और 8 km ड्रा इव करता है।
अंत में वह बाएं  मुड़ता है और बिंदु  B तक पहुंचने के  लिए 3 km ड्रा इव करता है। बिंदु  A पर पुनः  पहुंचने
के  लिए अब उसे कितनी दू र और किस दिशा में ड्रा इव करना चाहिए?

Ans 1. पूर्व की ओर 2 km

2. पश्चिम की ओर 3 km

3. उत्तर की ओर 4 km

4. दक्षिण की ओर 5 km

Question ID : 26433091678
Status : Answered

Chosen Option : 4
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Q.12 A, B, C, D, E, F, G, और H एक वर्गाकार मेज के  चारों  ओर बाहर की ओर मुख करके  बैठे  हैं। उनमें से
कु छ कोनों  पर बैठे  हैं जबकि कु छ भुजाओं के  ठीक कें द्र में बैठे  हैं। A, B के  ठीक बाएँ  और H के  दाएँ
बैठा है। H, A और G के  बीच बैठा है। F, G के  ठीक बाएँ  और E के  दाएँ  बैठा है। D, E और C के  बीच
बैठा है। C, B के  ठीक दाएँ  बैठा है। C और E के  बीच में कौन बैठा है?

Ans 1. B

2. D

3. A

4. G

Question ID : 26433074617
Status : Answered

Chosen Option : 2

Q.13 कौन-सा विकल्प नीचे दिए गए शब्दों के  उस सही क्रम को दर्शाता है, जिस क्रम में वे अंग्रेजी शब्दकोश में
आते हैं?
1 Sandwich
2 Salad
3 Salami
4 Saturn
5 Salty

Ans 1. 2, 3, 4, 1, 5

2. 2, 3, 5, 1, 4

3. 3, 2, 4, 1, 5

4. 3, 4, 2, 5, 1

Question ID : 26433069254
Status : Answered

Chosen Option : 2

Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057005
Status : Answered

Chosen Option : 3
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Q.15 'A & B' का अर्थ है 'A, B की बहन है'।
'A – B' का अर्थ है 'A, B की माँ है'।
'A × B' का अर्थ है 'A, B का पति है'।
'A @ B' का अर्थ है 'A, B का बेटा है'।
निम्नलिखित में से किस विकल्प का अर्थ है, 'L, O का पिता है'?

Ans 1. L & M × N @ O

2. L × M – N × O

3. L @ M – N & O

4. L × M – N & O

Question ID : 26433086987
Status : Answered

Chosen Option : 4

Q.16 एक पारिवारिक तस्वीर को देखते हुए, F ने A की ओर इशारा किया और कहा, "वह मेरी बहन G के
पिता D की बहन E के  पिता B की पत्नी है"। B का F से क्‍या संबंध है?

Ans 1. पिता

2. चाचा/ताऊ

3. दादा

4. बेटा

Question ID : 26433091432
Status : Answered

Chosen Option : 3

Q.17

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057001
Status : Answered

Chosen Option : 4
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Q.18 उस विकल्प का चयन करें  जो तीसरी संख्या से उसी प्रकार संबंधित है जिस प्रकार दू सरी संख्या पहली
संख्या से और छठी संख्या पांचवीं  संख्या से संबंधित है।

8 : 36 :: 6 : ? :: 12 : 76
Ans 1.  22

2.  24

3.  20

4.  27

Question ID : 26433057585
Status : Answered

Chosen Option : 1

Q.19 इस प्रश्न में, एक कथन के  बाद दो निष्कर्ष दिए गए हैं। दोनों  में से कौन-सा/से निष्कर्ष सत्य है/हैं?

कथन: X < U = F > R ≥ P < T < W

निष्कर्ष: I. X < T
II. R > W

Ans 1. निष्कर्ष I और II दोनों सत्य हैं।

2. के वल निष्कर्ष I सत्य है।

3. के वल निष्कर्ष II सत्य है।

4. न तो निष्कर्ष I और न ही II सत्य है।

Question ID : 26433057315
Status : Answered

Chosen Option : 4

Q.20 गणितीय चिह्नों  के  उस सही संयोजन का चयन करें , जिन्हें * चिह्नों  के  स्थान पर क्रमिक रूप से रखे जाने
पर दिया गया समीकरण संतुलित हो जाएगा।
88	*	44	*	22	*	66	*	99	*	251

Ans 1. +, +, −, ×, =

2. +, ÷, −, ×, =

3. −, ÷, +, +, =

4. ÷, +, −, ×, =

Question ID : 26433068693
Status : Answered

Chosen Option : 3

Q.21 निम्नलिखित में से कौन-सा अक्षर समूह प्रश्न-चिह्न (?) का स्थान लेगा और दी गई शृंखला को पूरा करेगा?
RJXU, ZANB, ?, PITP, XZJW

Ans 1. JWPR

2. HRDI

3. HDRI

4. JTEI

Question ID : 26433079435
Status : Answered

Chosen Option : 2
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Q.22 कौन-सा अक्षर-समूह दी गई शृंखला को पूरा करने के  लिए प्रश्न-चिह्न (?) को प्रतिस्थापित करेगा?
ABDG, BCEH, ?, DEGJ, EFHK

Ans 1. CEGH

2. CEFG

3. CDGI

4. CDFI

Question ID : 26433056228
Status : Answered

Chosen Option : 4

Q.23 उस विकल्प का चयन करें  जो तीसरी संख्या से उसी प्रकार संबंधित है जिस प्रकार दू सरी संख्या पहली
संख्या से संबंधित है और छठी संख्या पांचवीं  संख्या से संबंधित है।
17 : −153 :: −13 : ? :: −21 : 189

Ans 1. −104

2. 129

3. 117

4. −127

Question ID : 26433067893
Status : Answered

Chosen Option : 3

Q.24 दो कथनों  के  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों  को सत्य मानते हुए, भले ही वे सामान्य रूप से
ज्ञात तथ्यों से भिन्न प्रतीत होते हों , यह निर्णय लीजिए कि कौन- सा/से निष्कर्ष कथनों  का तार्कि क रूप से
अनुसरण करता है/करते हैं।
कथन: 
कु छ टास्क जॉब हैं।
कोई जॉब ड्यूटी नहीं  है।
निष्कर्ष: 
I. सभी टास्क कभी ड्यूटी नहीं  हो सकते।
II. कु छ टास्क ड्यूटी हैं।

Ans 1. के वल निष्कर्ष I अनुसरण करता है

2. न तो निष्कर्ष I और न ही II अनुसरण करता है

3. या तो निष्कर्ष I या II अनुसरण करता है

4. के वल निष्कर्ष II अनुसरण करता है

Question ID : 26433058037
Status : Answered

Chosen Option : 3

www.ex
am

mix.
co

m

https://sscstudy.com/

https://sscstudy.com/



Q.25 इस प्रश्न में तीन कथन और उसके  बाद तीन निष्कर्ष I, II और III दिए गए हैं। आपको तीनों  कथनों  को
सत्य मानना है, भले ही वे सामान्यतः  ज्ञात तथ्यों से भिन्न प्रतीत होते हों । सभी निष्कर्षों को पढ़ें और फिर
तय करें  कि कौन-सा/से निष्कर्ष, दिए गए कथनों  का तार्कि क रूप से अनुसरण करता है/करते हैं।
कथन:
कु छ ईंटें, धातु हैं।
सभी धातुएं , चमकदार हैं।
कोई चमकदार चीज, तैर नहीं  सकती।
निष्कर्ष:
(I) कु छ धातुएं , तैर सकती हैं।
(II) कोई ईंट, तैर नहीं  सकती।
(III) कु छ ईंटें, चमकदार हैं।

Ans 1. के वल निष्कर्ष II अनुसरण करता है।

2. के वल निष्कर्ष III अनुसरण करता है।

3. निष्कर्ष I, II और III सभी अनुसरण करते हैं।

4. कोई भी निष्कर्ष अनुसरण नहीं  करता।

Question ID : 26433057928
Status : Answered

Chosen Option : 2

Q.26

Ans

1. 

2. 

3. 

4. 

Question ID : 26433074805
Status : Answered

Chosen Option : 1

Q.27 दिए गए समीकरण में कौन-से दो चिह्नों  के  स्थान परस्पर बदल देने से समीकरण संतुलित हो जाएगा?
42 ÷ 7 − 64 + 11 × 6 = 4

Ans 1. ÷ और −

2. + और −

3. × और −

4. × और +

Question ID : 26433067529
Status : Answered

Chosen Option : 2
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Q.28

Ans 1. 18

2. 14

3. 19

4. 16

Question ID : 26433066230
Status : Answered

Chosen Option : 2

Q.29 उस समुच्चय का चयन कीजिए जिसमें संख्याएँ  आपस में उसी प्रकार संबंधित हैं जिस प्रकार निम्नलिखित
समुच्चयों  की संख्याएँ  आपस में संबंधित हैं। (नोट: संख्याओं को उसके  घटक अंकों  में विभाजित किए
बिना, पूर्ण संख्याओं पर गणितीय संक्रियाएं  की जानी चाहिए। उदाहरण के  लिए 13 - गणितीय संक्रियाएं
जैसे कि जोड़ना/घटाना/गुणा करना इत्‍यादि 13 में किया जा सकता है। 13 को 1 और 3 में विभाजित
करना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की अनुमति नहीं  है।)
(51, 34, 85)
(67, 42, 109)

Ans 1. (78, 51, 119)

2. (69, 44, 102)

3. (56, 31, 77)

4. (73, 38, 111)

Question ID : 26433067917
Status : Answered

Chosen Option : 4

Q.30 टाउन B, टाउन A के  पूर्व में है। टाउन C, टाउन B के  उत्तर में है। टाउन D, टाउन C के  पूर्व में है। टाउन
E, टाउन D के  दक्षिण में है। टाउन A के  सापेक्ष टाउन E की स्थिति क्या है? (सभी स्थितियों  को ग्रिड
पैटर्न में व्यवस्थित किया गया है)

Ans 1. पूर्व

2. उत्तर-पश्चिम

3. दक्षिण-पश्चिम

4. उत्तर

Question ID : 26433068582
Status : Answered

Chosen Option : 1www.ex
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Q.31 तीन कथनों  के  बाद तीन निष्कर्ष I, II और III दिए गए हैं। कथनों  को सत्य मानते हुए, भले ही वे सामान्य
रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , निर्धारित करें  कि कौन-सा/से निष्कर्ष कथनों  का तार्कि क रूप
से अनुसरण करता है/करते हैं।
कथन:
कु छ टेलिस्कोप पेरिस्कोप हैं।
कु छ टेलिस्कोप माइक्रोस्कोप हैं।
कु छ टेलिस्कोप के लिडोस्कोप हैं।
निष्कर्ष:
I. कु छ के लिडोस्कोप टेलिस्कोप हैं।
II. कु छ माइक्रोस्कोप के लिडोस्कोप हैं।
III. कु छ माइक्रोस्कोप टेलिस्कोप हैं।

Ans 1. के वल निष्कर्ष II और III अनुसरण करते हैं।

2. के वल निष्कर्ष III अनुसरण करता है।

3. के वल निष्कर्ष I और III अनुसरण करते हैं।

4. सभी निष्कर्ष अनुसरण करते हैं।

Question ID : 26433085343
Status : Answered

Chosen Option : 3

Q.32 एक निश्चित कू ट भाषा में, 'GARDEN' को 'FYOEGQ' लिखा जाता है और 'GOLDEN' को 'FMIEGQ'
लिखा जाता है। उसी भाषा में 'ISLAND' को कै से लिखा जाएगा?

Ans 1. HRIBPG 

2. HQIBPG 

3. HQJBPG

4. HQIBQG

Question ID : 26433056917
Status : Answered

Chosen Option : 2

Q.33 निम्नलिखित समीकरण को संतुलित करने के  लिए विकल्पों में दी गई किन दो संख्याओं को परस्पर
बदलना होगा?
108 ÷ 3 – 126 ÷ ( 5 × 3 + 12) + 4 = 11

Ans 1. 11 और 12

2. 12 और 4

3. 12 और 3

4. 126 और 108

Question ID : 26433067696
Status : Answered

Chosen Option : 3

Q.34 24 अगस्त, 1923 को सप्ताह का कौन-सा दिन था?
Ans 1. गुरुवार

2. शुक्रवार

3. रविवार

4. सोमवार

Question ID : 26433068778
Status : Answered

Chosen Option : 2

www.ex
am

mix.
co

m

https://sscstudy.com/

https://sscstudy.com/



Q.35

Ans 1. 47

2. 51

3. 29

4. 18

Question ID : 26433082320
Status : Answered

Chosen Option : 1

Q.36 एक निश्चित कू ट भाषा में, 'MERCHANT' को 'NFSCHCPV' के  रूप में लिखा जाता है और
'INTERIOR' को 'JOUERKQT' के  रूप में लिखा जाता है। उसी भाषा में 'JUNCTION' को किस रूप
में लिखा जाएगा?

Ans 1. KVOCTJQP

2. KVOCTJPO

3. KVOCTKPQ

4. KVOCTKQP

Question ID : 26433067320
Status : Answered

Chosen Option : 4

Q.37 उस समुच्चय का चयन कीजिए जिसमें संख्याएँ  आपस में उसी प्रकार संबंधित हैं जिस प्रकार निम्नलिखित
समुच्चयों  की संख्याएँ  आपस में संबंधित हैं। (नोट: संख्याओं को उसके  घटक अंकों  में विभाजित किए
बिना, पूर्ण संख्याओं पर गणितीय संक्रियाएं  की जानी चाहिए। उदाहरण के  लिए 13 - गणितीय संक्रियाएं
जैसे कि जोड़ना/घटाना/गुणा करना इत्‍यादि 13 में किया जा सकता है। 13 को 1 और 3 में विभाजित
करना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की अनुमति नहीं  है।) 
(56, 5, 9) 
(80, 8, 12)

Ans 1. (143, 12, 18)

2. (151, 4, 13)

3. (172, 8, 15)

4. (75, 11, 14)

Question ID : 26433057453
Status : Answered

Chosen Option : 4
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Q.38 Select the Venn diagram that best illustrates the relationship between the following
classes.
Fur, Animal, Wood

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067231
Status : Answered

Chosen Option : 1

Q.39 निम्नलिखित चार अक्षर-समूहों  में से तीन एक निश्चित तरीके  से आपस में संगत है, जबकि कोई एक उनसे
असंगत है। असंगत अक्षर-समूह का चयन करें।

Ans 1. ADBG

2. CFDI

3. ILJQ

4. TWUZ

Question ID : 26433057231
Status : Answered

Chosen Option : 3

Q.40 निम्नलिखित समीकरण को संतुलित करने के  लिए विकल्पों में दी गई किन दो संख्याओं को परस्पर
बदलना होगा?
(240 ÷ 2 + 5) × 8 + 15 × 8 = 100

Ans 1. 100 और 240

2. 5 और 8

3. 15 और 5

4. 2 और 8

Question ID : 26433067689
Status : Answered

Chosen Option : 4
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Q.41

Ans

1. 

2. 

3. 

4. 

Question ID : 26433092784
Status : Answered

Chosen Option : 2

Q.42 विकल्पों में से उस संख्या का चयन कीजिए, जो निम्नलिखित संख्या-शृंखला में प्रश्नचिह्न(?) के  स्थान पर
आएगी।
456, 444, 420, 384, 336, ?

Ans 1. 264 

2. 256 

3. 276 

4. 234 

Question ID : 26433068247
Status : Answered

Chosen Option : 1

Q.43 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) के  स्थान पर आएगी?
482, 524, 576, ?, 710, 792

Ans 1. 604

2. 618

3. 624

4. 638

Question ID : 26433067628
Status : Answered

Chosen Option : 4
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Q.44 एक कू ट भाषा में, 'TANYA' को BUBZO के  रूप में कू टबद्ध किया जाता है और 'RAHUL' को BSMVI
के  रूप में कू टबद्ध किया जाता है। उसी भाषा में 'MOHIT' को किस रूप में कू टबद्ध किया जाएगा?

Ans 1. PNUJI

2. PMUKI

3. QNUJI

4. PNUIJ

Question ID : 26433057904
Status : Answered

Chosen Option : 1

Q.45 निम्नलिखित चार अक्षर-समूहों  में से तीन एक निश्चित तरीके  से आपस में संगत है, जबकि कोई एक उनसे
असंगत है। असंगत अक्षर-समूह का चयन करें।

Ans 1. HMF 

2. GLE 

3. RUP

4. TYR 

Question ID : 26433058000
Status : Answered

Chosen Option : 3

Q.46 उस विकल्प का चयन करें  जो चौथी संख्या से उसी प्रकार संबंधित है जिस प्रकार पहली संख्या दू सरी
संख्या से और पांचवीं  संख्या छठी संख्या से संबंधित है।
11 : 132 :: ? : 342 :: 22 : 506

Ans 1. 18

2. 19

3. 17

4. 20

Question ID : 26433059931
Status : Answered

Chosen Option : 1

Q.47 उस विकल्प का चयन करें  जो पांचवें पद से उसी प्रकार संबंधित है जिस प्रकार दू सरा पद पहले पद से
संबंधित है और चौथा पद तीसरे  पद से संबंधित है।
OUT 2 : WWP 4 :: AXE 5 : HZB 25 :: ART 7 : ?

Ans 1. WTB 14

2. WTB 35

3. WTB 49

4. VTB 49

Question ID : 26433067396
Status : Answered

Chosen Option : 3
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Q.48 A, B, C, D, E, F और G सात मित्र हैं जिनकी लंबाई अलग-अलग है। A, C से लंबा है लेकिन B से नाटा
है। C, F से लंबा है लेकिन A से नाटा है। B, A से लंबा है लेकिन 2 व्यक्तियों से नाटा है। D, B से लंबा है।
E सबसे लंबा नहीं  है और G सबसे नाटा है। कितने व्यक्ति C से लंबे हैं?

Ans 1. 5

2. 1

3. 3

4. 4

Question ID : 26433093130
Status : Answered

Chosen Option : 4

Q.49 यदि + का अर्थ – है, – का अर्थ x है, x का अर्थ ÷ है और ÷ का अर्थ + है, तो दिए गए समीकरण में
प्रश्‍नवाचक चिह्न (?) के  स्थान पर क्या आएगा? 
7 ÷ 20 – 5 x 20 + 2 = ?

Ans 1. 15

2. 10

3. 30

4. 20

Question ID : 26433091649
Status : Answered

Chosen Option : 2

Q.50

Ans

1. 

2. 

3. 

4. 

Question ID : 26433085670
Status : Answered

Chosen Option : 1

Section : General Awareness

www.ex
am

mix.
co

m

https://sscstudy.com/

https://sscstudy.com/



Q.1 निम्नलिखित में से कौन सा एक अंतर्देशीय नदीय बंदरगाह (inland riverine port) है?
Ans 1. विशाखापत्तनम

2. कोलकाता

3. कांडला

4. पारादीप

Question ID : 26433081909
Status : Answered

Chosen Option : 3

Q.2 कलामंडलम रमनकु ट्टी नायर को निम्नलिखित में से किस वर्ष कथकली में उनके  योगदान के  लिए संगीत
नाटक अकादमी फै लोशिप प्राप्त हुई?

Ans 1. 2009

2. 2017

3. 2011

4. 2004

Question ID : 26433074828
Status : Not Answered

Chosen Option : --

Q.3 निम्नलिखित में से कौन सा मानसून अक्टू बर और नवंबर के  दौरान तमिलनाडु  तट, दक्षिणी आंध्र प्रदेश,
दक्षिण-पूर्व कर्नाटक और दक्षिण-पूर्व के रल में मूसलाधार वर्षा के  लिए जिम्मेदार है?

Ans 1. उत्तर-पूर्वी मानसून

2. उत्तर-पश्चिम मानसून

3. दक्षिण-पूर्वी मानसून

4. दक्षिण-पश्चिम मानसून

Question ID : 26433064183
Status : Not Answered

Chosen Option : --

Q.4 नागालैंड की निम्नलिखित में से कौन-सी जनजाति 'मिमकु ट' उत्सव मनाती है?
Ans 1. अंगामी

2. चांग

3. कु की

4. कचारी

Question ID : 26433064341
Status : Not Answered

Chosen Option : --

Q.5 निम्नलिखित में से किसे मास्टरदा के  नाम से जाना जाता था, जिन्हों ने अप्रैल 1930 में ब्रिटिश भारत में
चटगांव शस्त्रागार छापे का नेतृत्व किया था?

Ans 1. अनंत सिंह

2. लोकनाथ बाउल

3. सूर्य सेन

4. गणेश घोष

Question ID : 26433094907
Status : Not Answered

Chosen Option : --
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Q.6 निम्नलिखित में से किस शासक को सिक्कों पर उसे वीणा वादन करते हुए दिखाया गया है?
Ans 1. रामगुप्त

2. समुद्रगुप्त

3. स्कं दगुप्त

4. विक्रमगुप्त

Question ID : 26433064599
Status : Answered

Chosen Option : 2

Q.7 जर्मन प्राणी विज्ञानी अर्न्स्ट हेके ल द्वारा सबसे पहले _______ में पारिस्थितिकी को ज्ञान के  एक अलग
क्षेत्र के  रूप में वर्णित किया गया था।

Ans 1. 1845

2. 1890

3. 1866

4. 1880

Question ID : 26433055802
Status : Not Answered

Chosen Option : --

Q.8 हिंदुस्तानी शास्त्रीय संगीत के  प्रवर्तक पंडित जसराज निम्नलिखित में से किस घराने के  अनुयायी थे?
Ans 1. किराना

2. ग्वालियर

3. मेवाती

4. डागर

Question ID : 26433055405
Status : Answered

Chosen Option : 2

Q.9 यूनानी इतिहासकार और राजनयिक मेगस्थनीज, सेल्यूकस प्रथम निके टर के  राजदू त के  रूप में भारत
आए थे। वह निम्नलिखित में से किस मौर्य सम्राट के  दरबार में आए थे?

Ans 1. चंद्रगुप्त मौर्य

2. सम्प्रति

3. अशोक

4. बृहद्रथ

Question ID : 26433071385
Status : Answered

Chosen Option : 1

Q.10 1662 में प्रतिपादित निम्नलिखित में से कौन-से नियम से यह निष्कर्ष निकाला गया था कि दाब और
आयतन का गुणनफल लगभग स्थिर रहता है?

Ans 1. चार्ल्स का नियम

2. डाल्टन का नियम

3. अवोगाद्रो का नियम

4. बॉयल का नियम

Question ID : 26433055768
Status : Answered

Chosen Option : 4
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Q.11 निम्नलिखित में से क्‍या कोशिकाओं को एक निश्चित आकार प्रदान करता है?
Ans 1. माइटोकॉन्ड्रि या

2. राइबोसोम

3. झिल्ली

4. नाभिक

Question ID : 26433066488
Status : Not Answered

Chosen Option : --

Q.12 राष्ट्री य ग्रामीण आजीविका मिशन (NRLM) को किस मंत्रालय ने लागू किया?
Ans 1. ग्रामीण विकास मंत्रालय

2. श्रम और रोजगार मंत्रालय

3. पंचायती राज मंत्रालय

4. विधि और न्याय मंत्रालय

Question ID : 26433092890
Status : Answered

Chosen Option : 2

Q.13 निम्नलिखित में से कौन-सी एक बागाती (Plantation) फसल नहीं  है?
Ans 1. कॉफ़ी

2. गेहूँ

3. रबड़

4. चाय

Question ID : 26433082179
Status : Answered

Chosen Option : 3

Q.14 निम्नलिखित में से कौन सा आगरा के  ताजमहल की नकल है?
Ans 1. दरिया दौलत बाग

2. हुमायूँ का मकबरा

3. बीबी का मकबरा

4. अकबर का मकबरा

Question ID : 26433066565
Status : Answered

Chosen Option : 3

Q.15 10 अप्रैल 2022 तक की स्थिति के  अनुसार, निम्नलिखित में से कौन तमिलनाडु  के  राज्यपाल हैं?
Ans 1. जगदीश मुखी

2. बनवारीलाल पुरोहित

3. आर.एन. रवि

4. सी. विद्यासागर राव

Question ID : 26433054553
Status : Not Answered

Chosen Option : --
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Q.16 'द मिनिस्ट्री ऑफ अटमोस्ट हैप्पीनेस' नामक उपन्यास के /की लेखक/लेखिका __________ हैं।
Ans 1. अरुं धति रॉय

2. विक्रम सेठ

3. किरण देसाई

4. वी. एस. नायपॉल

Question ID : 26433054253
Status : Answered

Chosen Option : 1

Q.17 हरित क्रांति के  संदर्भ में HYV में 'H' का क्या अर्थ है?
Ans 1. उच्च (हाई)

2. संकर (हाइब्रिड)

3. विजातीय (हेटरोजेनस)

4. सजातीय (होमोजेनस)

Question ID : 26433054815
Status : Not Answered

Chosen Option : --

Q.18 2011 में भारत की शहरी जनसंख्या का प्रतिशत कितना था?
Ans 1. 36.14%

2. 29.17%

3. 31.16%

4. 14.36%

Question ID : 26433092879
Status : Answered

Chosen Option : 3

Q.19 जब 1991 की औद्योगिक नीति का शुभारंभ हुआ, उस समय भारत के  प्रधानमंत्री कौन थे?
Ans 1. राजीव गांधी

2. पी.वी. नरसिम्हा राव

3. वी.पी. सिंह

4. चंद्रशेखर

Question ID : 26433059280
Status : Answered

Chosen Option : 1

Q.20 86वाँ संविधान संशोधन (11वाँ मौलिक कर्तव्य जोड़ा गया) किस वर्ष अधिनियमित किया गया था?
Ans 1. 1997

2. 1985

3. 1978

4. 2002

Question ID : 26433064820
Status : Answered

Chosen Option : 4
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Q.21 पश्चिमी घाटों  में होने वाली अधिकांश वर्षा ______ होती है, क्योंकि आर्द्र हवाएं  बाधित होती हैं और घाटों
के  साथ ऊपर उठने के  लिए मजबूर हो जाती हैं।

Ans 1. संवहनी

2. चक्रवाती

3. स्थानीय

4. पर्वतीय

Question ID : 26433066693
Status : Not Answered

Chosen Option : --

Q.22 निम्नलिखित में से किस चोलवंश राजा ने तंजौर के  राजराजेश्वर मंदिर का निर्माण करवाया था?
Ans 1. राजेंद्र चोल III

2. विक्रमा चोल

3. राजराजा चोल I

4. राजधिराज चोल

Question ID : 26433089193
Status : Answered

Chosen Option : 3

Q.23 ______ के  परमाणु के  संदर्भ में सभी तत्वों के  सापेक्ष परमाणु द्रव्यमान खोजे गए हैं।
Ans 1. 

2. 

3. 

4. 

Question ID : 26433071437
Status : Not Answered

Chosen Option : --

Q.24 1 नवंबर 2019 के  बाद से सभी अंतर्राष्ट्री य एथलेटिक स्पर्धाओं का आयोजन किसके  नियमों  के  तहत
किया जा रहा है?

Ans 1. इंटरनेशनल एसोसिएशन ऑफ एथलेटिक फे डरेशन

2. विश्व एथलेटिक्स (वर्ल्ड एथलेटिक्स)

3. इंटरनेशनल एमेच्योर एथलेटिक्स फे डरेशन

4. अंतर्राष्ट्री य ओलंपिक समिति (इंटरनेशनल ओलंपिक कमीटी)

Question ID : 26433059370
Status : Not Answered

Chosen Option : --

Q.25 1920 के  दशक में सिंधु घाटी सभ्यता के  दो प्रमुख शहरों  की खोज हेतु उत्खनन एएसआई (ASI) के
किस महानिदेशक के  नेतृत्व में हुआ?

Ans 1. माधो सरूप वत्स

2. मोर्टिमर व्हीलर

3. जॉन ह्यूबर्ट मार्शल

4. जेम्स बर्गेस

Question ID : 26433090740
Status : Answered

Chosen Option : 3

www.ex
am

mix.
co

m

https://sscstudy.com/

https://sscstudy.com/



Q.26 जातिगत समानता का प्रचार करने के  लिए, ___________ ने सत्यशोधक समाज की स्थापना की।
Ans 1. महात्मा गांधी

2. बाल गंगाधर तिलक

3. डॉ. भीमराव अंबेडकर

4. ज्योतिबा फु ले

Question ID : 26433085304
Status : Answered

Chosen Option : 4

Q.27 सेंटर फॉर मरीन लिविंग रिसोर्सेज द्वारा 'डीप ओशन मिशन' के  तहत निम्नलिखित में से कौन-सा
विषयगत क्षेत्र (thematic areas) कार्यान्वित हो रहा है?

Ans 1. डीप ओशन सर्वे एं ड एक्सप्लोरेशन

2. टेक्नोलॉजिकल इनोवेशंस फॉर एक्सप्लोरेशन एं ड कं ज़रवेशन ऑफ डीप-सी बायोडाइवर्सिटी

3. डेवलपमेंट ऑफ ओशन क्लाइमेट चेंज एडवाइज़री सर्विसेज़

4. एनर्जी एं ड फ्रे श वॉटर फ्रॉम द ओशन

Question ID : 26433090629
Status : Not Answered

Chosen Option : --

Q.28 निम्नलिखित में से कौन-सा नृत्य 'एकहार्य लास्यंगा' से विकसित हुआ है?
Ans 1. भरतनाट्यम

2. कु चिपुड़ी

3. ओडिसी

4. कथकली

Question ID : 26433086634
Status : Not Answered

Chosen Option : --

Q.29 निम्नलिखित में से किस ओलंपिक में भारतीय फु टबॉल टीम चौथे स्थान पर रही थी?
Ans 1. 1948 लंदन

2. 1956 मेलबर्न

3. 1960 रोम

4. 1936 बर्लिन

Question ID : 26433059369
Status : Not Answered

Chosen Option : --

Q.30 एक प्रसिद्ध गायक, कु मार गंधर्व, संगीत की निम्नलिखित में से किस विधा के  लिए प्रसिद्ध हैं?
Ans 1. कर्नाटक शास्त्रीय

2. सूफी संगीत

3. लोक संगीत

4. हिंदुस्तानी शास्त्रीय

Question ID : 26433055402
Status : Not Answered

Chosen Option : --
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Q.31 निम्नलिखित में से कौन-से वर्ण को उत्तर वैदिक काल में 'उपनयन संस्कार' के  अनुष्ठान की अनुमति नहीं
थी?

Ans 1. शूद्र

2. वैश्य

3. क्षत्रिय

4. ब्राह्मण

Question ID : 26433085209
Status : Answered

Chosen Option : 1

Q.32 पारिस्थितिक तंत्र में ऊर्जा का प्राथमिक स्रोत क्या है?
Ans 1. सूर्यप्रकाश

2. पौधों में ऑक्सीकरण

3. चंद्रप्रकाश

4. श्वसन के  दौरान निकलने वाली ऊष्मा

Question ID : 26433066494
Status : Answered

Chosen Option : 1

Q.33 'प्लाज्मा का चुंबकीय परिरोध' नामक दृष्टिकोण किस तकनीक का वैज्ञानिक सिद्धांत है?
Ans 1. जाइंट मीटरवेव रे डियो टेलीस्कोप

2. फ्यूज़न रिएक्टर

3. विद्यु त जनित्र

4. कण त्वरक

Question ID : 26433064051
Status : Not Answered

Chosen Option : --

Q.34 कर्नाटक की धार्मिक विरासत और समृद्ध संस्कृ ति को दर्शाने वाला करागा उत्सव कितने दिनों  तक
मनाया जाता है?

Ans 1. 9

2. 7

3. 13

4. 11

Question ID : 26433072636
Status : Not Answered

Chosen Option : --

Q.35 क्षेत्रीय ग्रामीण बैंकों  में कें द्र सरकार की पूँजी के  स्वामित्व का अनुपात कितना है?
Ans 1. 50%

2. 60%

3. 55%

4. 45%

Question ID : 26433066575
Status : Not Answered

Chosen Option : --

www.ex
am

mix.
co

m

https://sscstudy.com/

https://sscstudy.com/



Q.36 भारत में निम्नलिखित में से कौन-सा धार्मिक समुदाय मुख्य रूप से पतेती उत्सव मनाता है?
Ans 1. पारसी

2. हिंदू

3. सिख

4. मुसलमान

Question ID : 26433064683
Status : Answered

Chosen Option : 1

Q.37 मार्च 2022 तक की स्‍थिति के  अनुसार, निम्नलिखित में से कौन सा स्वतंत्रता दिवस समारोह का एक
विषय (theme) नहीं  रहा है?

Ans 1. सच्ची आज़ादी की ओर

2. स्वयं से पहले सेवा (सर्विस बिफोर सेल्‍फ)

3. नेशन फर्स्ट, ऑलवेज फर्स्ट

4. याद करो कु र्बानी

Question ID : 26433070841
Status : Answered

Chosen Option : 4

Q.38 निम्नलिखित में से कौन-सा हरा शैवाल है?
Ans 1. क्लोरोफाइसी (Chlorophyceae)

2. रोडोफाइसी (Rhodophyceae)

3. फियोफाइसी (Phaeophyceae)

4. लिवरवॉर्ट (Liverwort)

Question ID : 26433066475
Status : Not Answered

Chosen Option : --

Q.39 किस भारतीय क्रिके टर ने दिसंबर 2021 में क्रिके ट के  सभी प्रारूपों  से संन्यास लेने की घोषणा की?
Ans 1. सुरेश रैना

2. इशांत शर्मा

3. महेन्द्र सिंह धोनी

4. हरभजन सिंह

Question ID : 26433069824
Status : Answered

Chosen Option : 3

Q.40 भारत के  महान संगीतकारों  में से एक, उस्ताद विलायत खान, निम्नलिखित में से किस वाद्य यंत्र के  वादन
के  लिए विश्व स्तर पर प्रसिद्ध हैं?

Ans 1. तानपुरा

2. सितार

3. सरोद

4. वायोलिन

Question ID : 26433055391
Status : Answered

Chosen Option : 2
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Q.41 निम्नलिखित में से किस ओलंपिक में फील्ड हॉकी को खेल के  रूप में पहली बार शामिल किया गया था?
Ans 1. 1912

2. 1908

3. 1904

4. 1900

Question ID : 26433059374
Status : Not Answered

Chosen Option : --

Q.42 भारत सरकार द्वारा 'प्रोजेक्ट एलीफें ट' का शुभारंभ निम्नलिखित में से किस वर्ष किया गया था?
Ans 1. 1992

2. 1982

3. 1962

4. 1972

Question ID : 26433089236
Status : Not Answered

Chosen Option : --

Q.43 उन अपसारी कें द्रों  के  पास किस प्रकार की प्लेट सीमाएं  बनती हैं जहां प्लेटें टू टकर अलग होती हैं और
भूप्रावार से मैग्मा द्वारा ऊपर उठकर नई परत का निर्माण करती है?

Ans 1. रूपांतरीत सीमा (Transform boundaries)

2. अपसारी सीमा (Divergent boundaries)

3. एकरूप सीमा (Uniform boundaries)

4. अभिसारी सीमा (Convergent boundaries)

Question ID : 26433064278
Status : Answered

Chosen Option : 4

Q.44 बंकिम चंद्र चटर्जी द्वारा निम्नलिखित में से कौन-सी पुस्तक लिखी गई है?
Ans 1. प्रतिज्ञा

2. दुर्गेशानंदिनी

3. मैला आँचल

4. चोखेर बाली

Question ID : 26433054380
Status : Not Answered

Chosen Option : --

Q.45 निम्नलिखित में से कौन शुंग वंश का संस्थापक था, जिसने अंतिम मौर्य सम्राट की हत्या करके  अपना
राज्य स्थापित किया था?

Ans 1. अग्निमित्र

2. भगभद्र

3. पुष्यमित्र

4. देवभूति

Question ID : 26433054198
Status : Answered

Chosen Option : 4
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Q.46 पक्सीनिया एक परजीवी ________ है।
Ans 1. शैवाल

2. पादप

3. कवक

4. जंतु

Question ID : 26433064427
Status : Not Answered

Chosen Option : --

Q.47 किस कोशिकांग में यूरेट ऑक्सीडेज क्रिस्टल से बना न्यूक्लियॉइड नामक क्रिस्टलीय पदार्थ का कें द्रीय
कोर होता है?

Ans 1. पेरॉक्सीसोम

2. ग्लाइऑक्सीसोम्स

3. स्फे रोसोम्स

4. लाइसोसोम

Question ID : 26433055796
Status : Not Answered

Chosen Option : --

Q.48 बहुआयामी गरीबी सूचकांक (MPI) 2021 के  अनुसार अखिल भारतीय गरीबी अनुपात ______ पाया
गया।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433092860
Status : Not Answered

Chosen Option : --

Q.49 जुलाई 2021 में, निम्नलिखित में से कौन भारत के  पहले कें द्रीय सहकारिता मंत्री बने?
Ans 1. रमेश पोखरियाल

2. अमित शाह

3. निर्मला सीतारमण

4. मीनाक्षी लेखी

Question ID : 26433086885
Status : Answered

Chosen Option : 1

Q.50 फरवरी 2022 में प्रधान मंत्री नरेंद्र मोदी ने किस भारतीय शहर में गोबर-धन (बायो-सीएनजी) संयंत्र का
उद् घाटन किया?

Ans 1. भोपाल

2. जयपुर

3. पुणे

4. इंदौर

Question ID : 26433081810
Status : Not Answered

Chosen Option : --

Section : English Language and Comprehension
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Q.1 Select the option that expresses the given sentence in indirect speech.

The Principal said to the students, “Listen to the announcement carefully.”
Ans 1. The Principal ordered the students to listen to the announcement carefully. 

2. The Principal suggested the students that they should listen to the announcement
carefully.

3. The Principal ordered the students that listen to the announcement carefully.

4. The Principal told the students that listen to the announcement carefully.

Question ID : 26433071729
Status : Answered

Chosen Option : 2

Q.2 Select the option that expresses the given sentence in active voice.

Because of his caring nature he is appreciated by all.
Ans 1. Because of his caring nature all appreciate him. 

2. Because of his caring nature all will appreciate him.  

3. Because of his caring nature all appreciated him.  

4. Because of his caring nature everyone appreciate him.  

Question ID : 26433094170
Status : Answered

Chosen Option : 1

Q.3 Identify the option that rectifies the error in the given sentence.

In the future, people are not going to physical stores as much as they do now.
Ans 1. In the future, people will not go to physical stores as much as they do now. 

2. In the future, people were not going to physical stores as much as they do now.

3. In the future, people should not go to physical stores as much as they do now. 

4. In the future, people are not gone to physical stores as much as they do now. 

Question ID : 26433071846
Status : Answered

Chosen Option : 1

Q.4 Select the most appropriate ANTONYM of the given word.

Renegade
Ans 1. Follower

2. Leader

3. Criminal

4. Fugitive

Question ID : 26433072421
Status : Answered

Chosen Option : 1
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Q.5 Select the most appropriate synonym of the given word.
Cumbersome

Ans 1.  Light

2. Fatigue 

3.  Easy

4. Clumsy

Question ID : 26433070795
Status : Answered

Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.

He pushed her on ___________.
Ans 1. purpose

2. deliberate

3. focus

4. surplus

Question ID : 26433060082
Status : Answered

Chosen Option : 1

Q.7 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
In his character, / I could hardly find something / worthy of admiration.

Ans 1.  In his character

2.  I could hardly find something

3. worthy of admiration

4.  No error

Question ID : 26433060134
Status : Answered

Chosen Option : 2

Q.8 Select the option that expresses the given sentence in indirect speech.
He said to me, “Please pass the salt.”

Ans 1.  He advised me that I should pass the salt.

2. He requested me to pass the salt. 

3. He requested me that I pass the salt. 

4.  He asked for the salt.

Question ID : 26433063535
Status : Answered

Chosen Option : 3
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Q.9 Select the word that is OPPOSITE in meaning to the underlined word in the given
sentence.

People with generous hearts can see the intrinsic value in something which looks
worthless to others.

Ans 1. Extraneous

2. Genuine

3. Unrelated

4. Impertinent

Question ID : 26433060598
Status : Answered

Chosen Option : 3

Q.10 Select the most appropriate meaning of the given idiom. 
To be in the driving seat

Ans 1. To allow other people to go past yourself 

2. To avoid speaking up on something

3. To be in charge or control of a situation

4. To be able to drive a vehicle

Question ID : 26433063126
Status : Answered

Chosen Option : 3

Q.11 Select the most appropriate meaning of the given idiom.

Hit the sack
Ans 1. Achieve something  

2. Complete the task  

3. To harm someone  

4. Go to sleep

Question ID : 26433061012
Status : Answered

Chosen Option : 2

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The / God / is / omniscient.
Ans 1. The

2. God

3. omniscient

4. is

Question ID : 26433061025
Status : Answered

Chosen Option : 1
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Q.13 Identify the sentence that correctly uses the indefinite article.
Ans 1. He has a keen eye for business and every year his firm makes great profit.  

2. He has a keen eye for business and every year his firm makes great a profit. 

3. He has a keen eye for business and every year his firm makes a great profit. 

4. He has keen eye for business and every year his firm makes great profit.

Question ID : 26433059565
Status : Answered

Chosen Option : 3

Q.14 Select the most appropriate meaning of the underlined idiom.

Cissy promised to turn over a new leaf and keep her room clean from now on.
Ans 1. To start behaving in a better way  

2. To accept immediately  

3. To take a chance 

4. To tease someone  

Question ID : 26433093858
Status : Answered

Chosen Option : 2

Q.15 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up and named
P, Q, R, S. Arrange the sentences in the correct order to form a meaningful and
coherent paragraph.

(S1) The poster ranks high as a medium of publicity.
(P) Advertisement can be displayed before a much larger number of persons for a
longer time by means of a poster than by the expenditure of the same amount of
money in the Press, and it is, therefore, often found to be the better means of keeping
them in the public eye.
(Q) Nor must it be forgotten that a newspaper is bought by the reader, and on that
account enjoys an enhanced value; and further, that the purchaser usually takes the
paper home where it is perused by the whole household.
(R) It has, by reason of its size and the facilities which it affords for the use of colour, a
very powerful effect on the public mind.
(S) It must, however, be remembered that the attention received by a newspaper is
much closer and more intimate than that accorded to a poster.
(S6) If more is desired than the instantaneous impact on the mind, the advertising
value of the poster falls sharply.

Ans 1. R, P, Q, S

2. P, Q, R, S

3. Q, S, P, R

4. R, P, S, Q

Question ID : 26433073267
Status : Answered

Chosen Option : 1

Q.16 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

By next year, / they will have / build their new tower.
Ans 1. build their new tower

2. No error

3. they will have

4. By next year

Question ID : 26433071863
Status : Answered

Chosen Option : 1
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Q.17 Select the most appropriate option to fill in the blank.

The tribesmen cautiously came _______ to collect the items left by the officials.
Ans 1. forward

2. after

3. ahead

4. afar

Question ID : 26433060572
Status : Not Answered

Chosen Option : --

Q.18 Select the most appropriate synonym of the given word.

Vice
Ans 1. Looseness

2. Immorality 

3. Villainy

4. Wrong

Question ID : 26433072034
Status : Answered

Chosen Option : 3

Q.19 Select the option that expresses the given sentence in indirect speech.

The child says, “I do not want to go to school.”
Ans 1. The child says that he does not want to go to school. 

2. The child says that he do not want to go to school.

3. The child says that I do not want to go to school.

4. The child say that I do not want to go to school.

Question ID : 26433072476
Status : Answered

Chosen Option : 1

Q.20 Select the option that expresses the given sentence in passive voice. 
Neena will visit Greece in May.

Ans 1. Greece has been visited by Neena in May.

2. Greece will visit Neena in May.

3. Greece will be visited by Neena in May.  

4.  Greece had been visited by Neena in May.

Question ID : 26433070758
Status : Answered

Chosen Option : 3
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Q.21 Select the option that expresses the given sentence in passive voice.

Tigers look after their cubs till they can hunt on their own.
Ans 1. Cubs are looked by tigers till they can hunt on their own. 

2. Till cubs can hunt on their own, tigers look at them.

3. Cubs are looked after by tigers till they can hunt on their own. 

4. After cubs can hunt on their own, tigers do not look them.

Question ID : 26433065158
Status : Answered

Chosen Option : 3

Q.22 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Can you not / knock so louder / in the morning?
Ans 1. No error

2. Can you not

3.  in the morning

4. knock so louder

Question ID : 26433060935
Status : Answered

Chosen Option : 4

Q.23 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The cashier admitted that he was make a mistake.
Ans 1. had made a mistake 

2. have make a mistake 

3. will make a mistake 

4. No substitution required 

Question ID : 26433073375
Status : Answered

Chosen Option : 1

Q.24 Select the option that expresses the given sentence in active voice.

By whom was Hindi taught to you?
Ans 1. Who were you taught Hindi by?

2. By whom were you taught Hindi?

3. Who teaches you Hindi?

4. Who taught you Hindi?

Question ID : 26433093463
Status : Answered

Chosen Option : 4
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Q.25 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

I is angry with myself / for making / so many mistakes.
Ans 1. so many mistakes

2. for making

3. No error

4. I is angry with myself

Question ID : 26433061491
Status : Answered

Chosen Option : 4

Q.26 Select the option that expresses the given sentence in indirect speech.
Ron said to me, “He had his lunch at 2 p.m. yesterday.”

Ans 1. Ron told me that he had eaten his lunch at 2 p.m. the previous day. 

2. Ron told me that he had his lunch at 2 p.m. the previous day.

3. Ron told me that he had had his lunch at 2 p.m. the previous day.

4. Ron told me that he ate his lunch at 2 p.m. the previous day.  

Question ID : 26433059461
Status : Answered

Chosen Option : 3

Q.27 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Riya arrived at / the train station / lately.
Ans 1. Riya arrived at

2. No error

3. the train station

4. lately

Question ID : 26433060930
Status : Answered

Chosen Option : 3

Q.28 Select the option that expresses the given sentence in indirect speech.

The beggar woman said, “What will I do with so much money, my dear Prince?”
Ans 1. The beggar woman asked the Prince what she should do with so much money.

2. The beggar woman said to the Prince what she could do with so much money.

3. The beggar woman said to the Prince what would she do with so much money. 

4. The beggar woman told the Prince what she would do with so much money. 

Question ID : 26433065166
Status : Answered

Chosen Option : 4
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Q.29 Select the option that expresses the given sentence in direct speech.
He told me that I could eat from his plate.

Ans 1. He said to me, “You can eat from my plate.” 

2. He said to me, “Can you eat from my plate?” 

3. He said, “ You can eat from my plate.” 

4. He said, “I can eat from my plate.”  

Question ID : 26433059508
Status : Answered

Chosen Option : 1

Q.30 Select the correct indirect form of speech for the given sentence.

Bajrang said, “I went to Chandigarh yesterday.”
Ans 1. Bajrang said that he was gone to Chandigarh the day before. 

2. Bajrang said that he had gone to Chandigarh the day before.

3. Bajrang said that he have gone to Chandigarh the day before. 

4. Bajrang said that he gone to Chandigarh the day before. 

Question ID : 26433088630
Status : Answered

Chosen Option : 2

Q.31 Select the option that expresses the given sentence in passive voice.

People say Shyam is wise and honest.
Ans 1. It is believed that Shyam is wise and honest.

2. Shyam is wise and honest is said by people.

3. It is said that Shyam is wise and honest.

4. Let’s say that Shyam is wise and honest.

Question ID : 26433088304
Status : Answered

Chosen Option : 2

Q.32 Select the most appropriate option to fill in the blank.

Our forefathers loved trees and forests so much that they _____ deified and
worshipped them as abodes of Vrikshadevata and Vanadevata.

Ans 1. even

2. downright 

3. heartily 

4. chiefly

Question ID : 26433065111
Status : Answered

Chosen Option : 3
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Q.33 Select the most appropriate synonym of the underlined word.

The soldiers showed fortitude and resilience while facing the opponents.
Ans 1. Bravery  

2. Atrocity

3. Ingenuity

4. Conscientiousness

Question ID : 26433070519
Status : Answered

Chosen Option : 1

Q.34 Select the option that expresses the given sentence in indirect speech.

Mona said to me, “Are you planning a trip to Disneyland?”
Ans 1. Mona asked me that was I planning a trip to Disneyland?

2. Mona asked me if I had been planning a trip to Disneyland? 

3. Mona enquired of me that was I planning a trip to Disneyland.

4. Mona enquired of me if I was planning a trip to Disneyland.

Question ID : 26433071733
Status : Answered

Chosen Option : 4

Q.35 Select the option that expresses the given sentence in indirect speech.
Rohan said, “I will arrive late.”

Ans 1. Rohan said that he would arrive late.

2. Rohan says that he is late in his arrival.

3. Rohan said that I will arrive late.

4. Rohan said that he is arriving late.

Question ID : 26433059001
Status : Answered

Chosen Option : 1

Q.36 Select the option that expresses the given sentence in passive voice. 
Ajit does not help me with my homework.

Ans 1. I am help by Ajit with my homework.

2. I am not help by Ajit with my homework.

3. I am helped by Ajit with my homework.

4. I am not helped by Ajit with my homework.

Question ID : 26433084721
Status : Answered

Chosen Option : 4
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Q.37 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The budding photographer used to climbed up the hill every morning to capture the
beauty of the rising sun.

Ans 1. climbs up

2. climbing up 

3. is climbs up

4. climb up 

Question ID : 26433081325
Status : Answered

Chosen Option : 1

Q.38 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
If I was the President of India, / I would work / to ensure communal harmony.

Ans 1. I would work

2.  to ensure communal harmony

3.  If I was the President of India,

4.  No error

Question ID : 26433060168
Status : Answered

Chosen Option : 3

Q.39 Select the word that is OPPOSITE in meaning to the underlined word in the given
sentence.

She was reluctant to say anything to the members of the board.
Ans 1. Eager

2. Annoyed

3. Impatient

4. Hesitant

Question ID : 26433060599
Status : Answered

Chosen Option : 1

Q.40 Select the most appropriate ANTONYM to replace the italicised word. 
Actions done with malice have no good intention.

Ans 1. animosity 

2. enmity 

3.  good will

4.  rancour

Question ID : 26433059654
Status : Answered

Chosen Option : 3
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Q.41 Select the most appropriate synonym of the given word. 
Camouflage

Ans 1. Disguise

2. Apparel

3. Transform 

4. Cover

Question ID : 26433063121
Status : Answered

Chosen Option : 4

Q.42 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

Ajay will have been / writing his homework all day / by the time his mom returns.
Ans 1. writing his homework all day

2. by the time his mom returns

3. Ajay will have been

4. No error

Question ID : 26433071869
Status : Answered

Chosen Option : 4

Q.43 Select the option that expresses the given sentence in passive voice.

They were watching a movie on TV when their friends came.
Ans 1. A movie on TV was being watched by them when their friends came.

2. A movie on TV was watching by them when their friends came. 

3. A movie on TV is being watched by them when their friend came. 

4. When their friends came, a movie on TV was watched by them. 

Question ID : 26433063612
Status : Answered

Chosen Option : 1

Q.44 The following sentence has been divided into four segments. Identify the segment that
contains a grammatical error.

Radha told her friends that / she will discuss the project / with her mentor when / she
would meet him tomorrow.

Ans 1. she will discuss the project

2. Radha told her friends that

3. with her mentor when

4. she would meet him tomorrow.

Question ID : 26433060344
Status : Answered

Chosen Option : 1
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Q.45 Select the option that expresses the given sentence in future tense form.

The mass protests, sometimes, change the decisions of the rulers in democratic
countries.

Ans 1. The mass protests, sometimes, has changed the decisions of the rulers in democratic
countries.

2. The mass protests, sometimes, could change the decisions of the rulers in
democratic countries.

3. The mass protests, sometimes, are changing the decisions of the rulers in democratic
countries.

4. The mass protests, sometimes, had been changed the decisions of the rulers in
democratic countries.

Question ID : 26433089295
Status : Answered

Chosen Option : 2

Q.46 Select the most appropriate synonym of the underlined word.

Ritika was deprived of her father’s property as she married a knave.
Ans 1. Rogue  

2. Gallant  

3. Chauffeur  

4. Novice

Question ID : 26433070517
Status : Not Answered

Chosen Option : --

Q.47 Select the option that expresses the given sentence in passive voice.
They will send Madhu away to a boarding school. 

Ans 1. Madhu will send away to a boarding school by them.

2. Madhu will be sent away to a boarding school by them.

3. Madhu will have been sent away to a boarding school by them.  

4. Madhu shall be sent away to a boarding school by them.

Question ID : 26433059834
Status : Answered

Chosen Option : 2

Q.48 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

You must employ additional hands in complete the project in time.
Ans 1. to complete the project on time 

2. No substitution required 

3. for completing the project of time 

4. in completing the project in time

Question ID : 26433073379
Status : Answered

Chosen Option : 1
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Q.49 Select the most appropriate ANTONYM of the given word.

Adipose
Ans 1. Stringy

2. Fat

3. Glutinous

4. Tissue

Question ID : 26433072423
Status : Answered

Chosen Option : 1

Q.50 Select the most appropriate ANTONYM of the given word.
PERCEIVE

Ans 1. feel

2. realise

3. neglect

4. observe 

Question ID : 26433059812
Status : Answered

Chosen Option : 3

Q.51 Select the most appropriate option that can substitute the underlined segment in the
given sentence. 

Unless we co-operate and work together, we cannot succeed.
Ans 1. pull up

2. pull together

3. pull down  

4. pull through 

Question ID : 26433073845
Status : Answered

Chosen Option : 2

Q.52 Select the most appropriate option to fill in the blanks.

The blue whale is the largest animal that ever lived. The largest ________ grow to the
length of a basketball court. A blue whale’s heart is as big as a compact car. Its tails
flukes are as wide as a soccer goal. These animals were hunted nearly to their
________.

Ans 1. specimens; extinction

2. sample; removal

3. pattern; eradication

4. modal; elimination

Question ID : 26433070749
Status : Answered

Chosen Option : 1
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Q.53 Select the most appropriate option to fill in the blank.

The easiest ________ to get started is to use your imagination and maturity.
Ans 1. thinking

2. stretch  

3. work

4. approach 

Question ID : 26433060987
Status : Answered

Chosen Option : 4

Q.54 Select the option that expresses the given sentence in passive voice.
My mother will bake two dozen cookies for the bake sale.

Ans 1. Two dozen cookies will be baked by my mother for the bake sale.

2. Two dozen cookies shall be baked by my mother for the bake sale.

3. Two dozen cookies will have been baked by my mother for the bake sale.

4. Two dozen cookies will baked by my mother for the bake sale.

Question ID : 26433061554
Status : Answered

Chosen Option : 1

Q.55 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
She will already return home / when her parents get back / from their offices.

Ans 1. She will already return home

2.  No error

3. from their offices

4.  when her parents get back

Question ID : 26433060172
Status : Answered

Chosen Option : 1

Q.56 Select the most appropriate synonym of the given word.

Lucky
Ans 1. Jealous  

2. Outrageous  

3. Ominous  

4. Auspicious  

Question ID : 26433060356
Status : Answered

Chosen Option : 4
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Q.57 Select the option that expresses the given sentence in passive voice.

Aspirations give us the clarity of our goals.
Ans 1. The clarity of our goals has been given by aspirations. 

2. The clarity of our goals is given by aspirations. 

3. The clarity is given of our goals by aspirations. 

4. The clarity of our goals are given by aspirations.

Question ID : 26433072465
Status : Answered

Chosen Option : 2

Q.58 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
Neither of my sisters / are interested to come / on a vacation with me.

Ans 1.  No error

2. on a vacation with me

3.  Neither of my sisters

4. are interested to come

Question ID : 26433060163
Status : Answered

Chosen Option : 4

Q.59 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

One must brush up on entire course before the day of examination.
Ans 1. brushing off

2. No substitution  

3. brush about 

4. brushing on

Question ID : 26433073169
Status : Answered

Chosen Option : 3

Q.60 Select the most appropriate meaning of the given idiom.

Hit the nail on the head
Ans 1. Do something exactly right

2. Do something pointless

3. Do something without having planned beforehand

4. Take advantage of a good situation

Question ID : 26433060313
Status : Answered

Chosen Option : 1
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Q.61 Select the most appropriate meaning of the given idiom.

Separate the wheat from the chaff
Ans 1. Farming barren lands with little water

2. Harvesting crops and cooking them

3. To separate the valuable from the worthless

4. Cooking food during famine

Question ID : 26433094056
Status : Answered

Chosen Option : 3

Q.62 Select the most appropriate ANTONYM of the underlined word.
The heads turned to the back, where Dr. Pfizer, surrounded by the female troupe of
dancers, beamed with exhilaration in a dazzling ocean-green dress paired with
stunning jewellery.

Ans 1. pristine

2. lackluster

3. gingerly

4. luminous

Question ID : 26433059956
Status : Answered

Chosen Option : 4

Q.63 Select the option that expresses the given sentence in active voice.

The poor cat was brutally chased by the kids.
Ans 1. The kids brutally chase the poor cat.   

2. The kids brutally chased the poor cat.  

3. The kids did brutally chased the poor cat.   

4. The kids were brutally chasing the poor cat.   

Question ID : 26433096137
Status : Answered

Chosen Option : 2

Q.64 Select the most appropriate ANTONYM of the given word.

Rabble
Ans 1. Havoc

2. Noise

3. Rubbish

4. Elite

Question ID : 26433072420
Status : Answered

Chosen Option : 4
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Q.65 Select the option that expresses the given sentence in indirect speech.
The teacher was happy to meet her and asked, “When did you complete all these?”

Ans 1. The teacher was happy to meet her and asked when had she completed all those.

2. The teacher was happy to meet her and asked when did she complete all those.

3. The teacher was happy to meet her and asked when she had been completing all
those.

4. The teacher was happy to meet her and asked when she had completed all those.

Question ID : 26433084935
Status : Answered

Chosen Option : 4

Q.66 Select the option that expresses the given sentence in passive voice.

Throw the jacket.
Ans 1. Let us throw the jacket 

2. Let the jacket be thrown. 

3. The jacket must thrown by you. 

4. The jacket was thrown by you. 

Question ID : 26433071725
Status : Answered

Chosen Option : 4

Q.67 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

S1. Besides, there is something
A.which makes him feel
B.the wholeness of a thing
C.in the outlook of an Englishman
D.as the mere sum of its states
S6. and attributes for the time being.

Ans 1. BCDA

2. BDCA

3. BACD

4. CABD

Question ID : 26433092125
Status : Answered

Chosen Option : 3

Q.68 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

In spite of being seriously handicapped, Stephen Hawking’s is one of most eminent
modern scientists.

Ans 1. been one of the 

2. was one among most 

3. No substitution required 

4. is one of the most 

Question ID : 26433073378
Status : Answered

Chosen Option : 4
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Q.69 Select the option that expresses the given sentence in indirect speech.

The priest said, “Death is inevitable.”
Ans 1. The priest said that death is inevitable.

2.  The priest said death had been inevitable.

3. The priest said that death was inevitable. 

4. The priest told that death had been inevitable.

Question ID : 26433071726
Status : Answered

Chosen Option : 1

Q.70 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

The movie Jumanji is base on a children’s book of the same title.
Ans 1. is based upon

2. is based of

3. No substitution  

4. is being based by

Question ID : 26433084582
Status : Answered

Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

In the three days since schools reopened for junior students after two years, teachers are
missing the familiar buzz in classrooms and have found a section of students to be unusually
quiet. Some students are ‘withdrawn’, their social skills having been impacted by the long
closure of schools. Teachers and counsellors are hopeful this would pass soon and till then
they would have to be patient with the children and keep a close eye on their behaviour.
“Children might have developed behavioural problems such as screen addiction and
restlessness. They might have become impulsive and are not attentive to lessons. Teachers
have to be proactive about the mental health of the child,” said the psychiatrist.

SubQuestion No : 71
Q.71 How long has it been since the schools reopened?
Ans 1. Three years

2. Three days

3. Two days

4. Two years

Question ID : 26433094182
Status : Answered

Chosen Option : 4www.ex
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Comprehension:
Read the given passage and answer the questions that follow.

In the three days since schools reopened for junior students after two years, teachers are
missing the familiar buzz in classrooms and have found a section of students to be unusually
quiet. Some students are ‘withdrawn’, their social skills having been impacted by the long
closure of schools. Teachers and counsellors are hopeful this would pass soon and till then
they would have to be patient with the children and keep a close eye on their behaviour.
“Children might have developed behavioural problems such as screen addiction and
restlessness. They might have become impulsive and are not attentive to lessons. Teachers
have to be proactive about the mental health of the child,” said the psychiatrist.

SubQuestion No : 72
Q.72 Which of the following describes the most appropriate meaning of ‘withdrawn’

according to the context?
Ans 1. Idle

2. Hyperactive 

3. Aggressive 

4. Lost in themselves

Question ID : 26433094183
Status : Answered

Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

In the three days since schools reopened for junior students after two years, teachers are
missing the familiar buzz in classrooms and have found a section of students to be unusually
quiet. Some students are ‘withdrawn’, their social skills having been impacted by the long
closure of schools. Teachers and counsellors are hopeful this would pass soon and till then
they would have to be patient with the children and keep a close eye on their behaviour.
“Children might have developed behavioural problems such as screen addiction and
restlessness. They might have become impulsive and are not attentive to lessons. Teachers
have to be proactive about the mental health of the child,” said the psychiatrist.

SubQuestion No : 73
Q.73 What does ‘keep a close eye’ mean, according to the context?
Ans 1. Constant observation

2. Ignorance 

3. Blindness

4. A careless attitude

Question ID : 26433094186
Status : Answered

Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

In the three days since schools reopened for junior students after two years, teachers are
missing the familiar buzz in classrooms and have found a section of students to be unusually
quiet. Some students are ‘withdrawn’, their social skills having been impacted by the long
closure of schools. Teachers and counsellors are hopeful this would pass soon and till then
they would have to be patient with the children and keep a close eye on their behaviour.
“Children might have developed behavioural problems such as screen addiction and
restlessness. They might have become impulsive and are not attentive to lessons. Teachers
have to be proactive about the mental health of the child,” said the psychiatrist.

SubQuestion No : 74
Q.74 What are the teachers missing after the schools reopened?
Ans 1. Unusually quiet classroom environment

2. Screen addiction and restlessness

3. Presence of students

4. Buzz in classrooms

Question ID : 26433094185
Status : Answered

Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

In the three days since schools reopened for junior students after two years, teachers are
missing the familiar buzz in classrooms and have found a section of students to be unusually
quiet. Some students are ‘withdrawn’, their social skills having been impacted by the long
closure of schools. Teachers and counsellors are hopeful this would pass soon and till then
they would have to be patient with the children and keep a close eye on their behaviour.
“Children might have developed behavioural problems such as screen addiction and
restlessness. They might have become impulsive and are not attentive to lessons. Teachers
have to be proactive about the mental health of the child,” said the psychiatrist.

SubQuestion No : 75
Q.75 According to the psychiatrist, which type of problems might children have developed?
Ans 1. Behavioural problems 

2. Punctuality

3. Physical problems

4. Retention

Question ID : 26433094184
Status : Answered

Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.
In digital environments, social media means interaction between individuals in which they
generate, communicate and transfer thoughts and knowledge. Being social has become a
fundamental need, demonstrating the effectiveness of humans. People who were unheard are
now able to access information and have a voice because of the magnificent advancements
in communication systems. The present generation has the privilege of witnessing some of
the most incredible technological advancements in the history of mankind.

SubQuestion No : 76
Q.76 What does the word ‘social’ illustrate in the passage?
Ans 1. The lack of humans

2. The effectiveness of humans

3. The growth of humans

4. The subjectivity of humans

Question ID : 26433094031
Status : Answered

Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.
In digital environments, social media means interaction between individuals in which they
generate, communicate and transfer thoughts and knowledge. Being social has become a
fundamental need, demonstrating the effectiveness of humans. People who were unheard are
now able to access information and have a voice because of the magnificent advancements
in communication systems. The present generation has the privilege of witnessing some of
the most incredible technological advancements in the history of mankind.

SubQuestion No : 77
Q.77 Identify the central theme of the passage.
Ans 1. Facts and advantages of media

2. Media and voice of the voiceless

3. Media and narration

4. Media and technology

Question ID : 26433094030
Status : Not Answered

Chosen Option : --

Comprehension:
Read the given passage and answer the questions that follow.
In digital environments, social media means interaction between individuals in which they
generate, communicate and transfer thoughts and knowledge. Being social has become a
fundamental need, demonstrating the effectiveness of humans. People who were unheard are
now able to access information and have a voice because of the magnificent advancements
in communication systems. The present generation has the privilege of witnessing some of
the most incredible technological advancements in the history of mankind.

SubQuestion No : 78
Q.78 Identify a suitable title for the passage.
Ans 1. Media and Voices

2. Use of Social Media

3. Media and Communication

4. Utility of Social Media

Question ID : 26433094029
Status : Answered

Chosen Option : 2

Comprehension:
Read the given passage and answer the questions that follow.
In digital environments, social media means interaction between individuals in which they
generate, communicate and transfer thoughts and knowledge. Being social has become a
fundamental need, demonstrating the effectiveness of humans. People who were unheard are
now able to access information and have a voice because of the magnificent advancements
in communication systems. The present generation has the privilege of witnessing some of
the most incredible technological advancements in the history of mankind.

SubQuestion No : 79
Q.79 Identify the tone of the passage.
Ans 1. Scientific

2. Rational

3. Assertive

4. Satirical

Question ID : 26433094032
Status : Answered

Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
In digital environments, social media means interaction between individuals in which they
generate, communicate and transfer thoughts and knowledge. Being social has become a
fundamental need, demonstrating the effectiveness of humans. People who were unheard are
now able to access information and have a voice because of the magnificent advancements
in communication systems. The present generation has the privilege of witnessing some of
the most incredible technological advancements in the history of mankind.

SubQuestion No : 80
Q.80 Select the most appropriate ANTONYM of the given word.

Privilege
Ans 1. Disadvantage

2. Disabled

3. Prerogative

4. Loss

Question ID : 26433094033
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
National Educational Policy of India 2020 is built on the foundational (1) _______ of Equity,
Access, Quality and Affordability. The policy is a (2) ____________ framework of India’s
education system from elementary to higher education. It also discusses the (3) __________
and scope of vocational training. The objective is to (4) __________ India in a vibrant
knowledge society and make the country a global knowledge superpower by providing a more
(5) __________, flexible and multidisciplinary education to its youth.

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank number 1.
Ans 1. pillars 

2. aims

3. column

4. post 

Question ID : 26433063156
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
National Educational Policy of India 2020 is built on the foundational (1) _______ of Equity,
Access, Quality and Affordability. The policy is a (2) ____________ framework of India’s
education system from elementary to higher education. It also discusses the (3) __________
and scope of vocational training. The objective is to (4) __________ India in a vibrant
knowledge society and make the country a global knowledge superpower by providing a more
(5) __________, flexible and multidisciplinary education to its youth.

SubQuestion No : 82
Q.82 Select the most appropriate option to fill in blank number 2.
Ans 1.  comprehensive

2. inclusive 

3. absolute 

4. exclusionary 

Question ID : 26433063157
Status : Answered

Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
National Educational Policy of India 2020 is built on the foundational (1) _______ of Equity,
Access, Quality and Affordability. The policy is a (2) ____________ framework of India’s
education system from elementary to higher education. It also discusses the (3) __________
and scope of vocational training. The objective is to (4) __________ India in a vibrant
knowledge society and make the country a global knowledge superpower by providing a more
(5) __________, flexible and multidisciplinary education to its youth.

SubQuestion No : 83
Q.83 Select the most appropriate option to fill in blank number 3.
Ans 1.  profile

2. outline

3.  figure

4. shape 

Question ID : 26433063158
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
National Educational Policy of India 2020 is built on the foundational (1) _______ of Equity,
Access, Quality and Affordability. The policy is a (2) ____________ framework of India’s
education system from elementary to higher education. It also discusses the (3) __________
and scope of vocational training. The objective is to (4) __________ India in a vibrant
knowledge society and make the country a global knowledge superpower by providing a more
(5) __________, flexible and multidisciplinary education to its youth.

SubQuestion No : 84
Q.84 Select the most appropriate option to fill in blank number 4.
Ans 1.  renovate

2. transform

3. transgress 

4. redo 

Question ID : 26433063159
Status : Answered

Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
National Educational Policy of India 2020 is built on the foundational (1) _______ of Equity,
Access, Quality and Affordability. The policy is a (2) ____________ framework of India’s
education system from elementary to higher education. It also discusses the (3) __________
and scope of vocational training. The objective is to (4) __________ India in a vibrant
knowledge society and make the country a global knowledge superpower by providing a more
(5) __________, flexible and multidisciplinary education to its youth.

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank number 5.
Ans 1. dated

2. total 

3. atomistic

4.  holistic

Question ID : 26433063160
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Sportsmanship can be thought of as a sustaining and reasonably stable attribute or
possession that (1)________ individuals on the basis of how they are expected to behave in
sporting circumstances. Overall, sportsmanship makes reference to (2)________attributes
such as fair play, self-control, fortitude and perseverance, and (3)________ been associated
with personal and social concepts such as treating others equitably and receiving fair and
equal treatment, (4)________self-control when interacting with others, and showing respect
for both, authority and opposition groups. Additionally, sportsmanship is defined as the way an
individual (5)________ to athletics and all the sports.

SubQuestion No : 86
Q.86 Select the most appropriate option to fill in blank number 1.
Ans 1. identifies

2.  defines

3. modifies

4. distinguishes 

Question ID : 26433070581
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Sportsmanship can be thought of as a sustaining and reasonably stable attribute or
possession that (1)________ individuals on the basis of how they are expected to behave in
sporting circumstances. Overall, sportsmanship makes reference to (2)________attributes
such as fair play, self-control, fortitude and perseverance, and (3)________ been associated
with personal and social concepts such as treating others equitably and receiving fair and
equal treatment, (4)________self-control when interacting with others, and showing respect
for both, authority and opposition groups. Additionally, sportsmanship is defined as the way an
individual (5)________ to athletics and all the sports.

SubQuestion No : 87
Q.87 Select the most appropriate option to fill in blank number 2.
Ans 1. total

2.  positive

3. negative 

4.  average

Question ID : 26433070582
Status : Answered

Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Sportsmanship can be thought of as a sustaining and reasonably stable attribute or
possession that (1)________ individuals on the basis of how they are expected to behave in
sporting circumstances. Overall, sportsmanship makes reference to (2)________attributes
such as fair play, self-control, fortitude and perseverance, and (3)________ been associated
with personal and social concepts such as treating others equitably and receiving fair and
equal treatment, (4)________self-control when interacting with others, and showing respect
for both, authority and opposition groups. Additionally, sportsmanship is defined as the way an
individual (5)________ to athletics and all the sports.

SubQuestion No : 88
Q.88 Select the most appropriate option to fill in blank number 3.
Ans 1. have

2.  has

3. had 

4. have had 

Question ID : 26433070583
Status : Answered

Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Sportsmanship can be thought of as a sustaining and reasonably stable attribute or
possession that (1)________ individuals on the basis of how they are expected to behave in
sporting circumstances. Overall, sportsmanship makes reference to (2)________attributes
such as fair play, self-control, fortitude and perseverance, and (3)________ been associated
with personal and social concepts such as treating others equitably and receiving fair and
equal treatment, (4)________self-control when interacting with others, and showing respect
for both, authority and opposition groups. Additionally, sportsmanship is defined as the way an
individual (5)________ to athletics and all the sports.

SubQuestion No : 89
Q.89 Select the most appropriate option to fill in blank number 4.
Ans 1.  follows

2. mentions

3. exercising

4. prepares 

Question ID : 26433070584
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Sportsmanship can be thought of as a sustaining and reasonably stable attribute or
possession that (1)________ individuals on the basis of how they are expected to behave in
sporting circumstances. Overall, sportsmanship makes reference to (2)________attributes
such as fair play, self-control, fortitude and perseverance, and (3)________ been associated
with personal and social concepts such as treating others equitably and receiving fair and
equal treatment, (4)________self-control when interacting with others, and showing respect
for both, authority and opposition groups. Additionally, sportsmanship is defined as the way an
individual (5)________ to athletics and all the sports.

SubQuestion No : 90
Q.90 Select the most appropriate option to fill in blank number 5.
Ans 1. receives

2. reacts

3. recreates

4. envisions

Question ID : 26433070585
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Individuals might not always do just what we (1)________like them to do. No matter how
justified or marginal our requirements (2)________ we will occasionally be disheartened.
Instinctually, when our expectations are not fulfilled, we become hurt and upset. Altercations
terrify us since they are uncomfortable and have the potential to destroy relationships.
However, avoiding confrontation does not (3)________the dispute, as unanswered questions
also have a detrimental (4)________on relationships. Indeed, the true source of (5)________
is our confrontational style, not the problem itself.

SubQuestion No : 91
Q.91 Select the most appropriate option to fill in blank number 1.
Ans 1. would

2. can 

3.  could

4.  will

Question ID : 26433070587
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Individuals might not always do just what we (1)________like them to do. No matter how
justified or marginal our requirements (2)________ we will occasionally be disheartened.
Instinctually, when our expectations are not fulfilled, we become hurt and upset. Altercations
terrify us since they are uncomfortable and have the potential to destroy relationships.
However, avoiding confrontation does not (3)________the dispute, as unanswered questions
also have a detrimental (4)________on relationships. Indeed, the true source of (5)________
is our confrontational style, not the problem itself.

SubQuestion No : 92
Q.92 Select the most appropriate option to fill in blank number 2.
Ans 1. was 

2.  has been

3.  were

4. are

Question ID : 26433070588
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Individuals might not always do just what we (1)________like them to do. No matter how
justified or marginal our requirements (2)________ we will occasionally be disheartened.
Instinctually, when our expectations are not fulfilled, we become hurt and upset. Altercations
terrify us since they are uncomfortable and have the potential to destroy relationships.
However, avoiding confrontation does not (3)________the dispute, as unanswered questions
also have a detrimental (4)________on relationships. Indeed, the true source of (5)________
is our confrontational style, not the problem itself.

SubQuestion No : 93
Q.93 Select the most appropriate option to fill in blank number 3.
Ans 1.  revise

2.  stop

3. fix 

4. modify

Question ID : 26433070589
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Individuals might not always do just what we (1)________like them to do. No matter how
justified or marginal our requirements (2)________ we will occasionally be disheartened.
Instinctually, when our expectations are not fulfilled, we become hurt and upset. Altercations
terrify us since they are uncomfortable and have the potential to destroy relationships.
However, avoiding confrontation does not (3)________the dispute, as unanswered questions
also have a detrimental (4)________on relationships. Indeed, the true source of (5)________
is our confrontational style, not the problem itself.

SubQuestion No : 94
Q.94 Select the most appropriate option to fill in blank number 4.
Ans 1. effect

2. affect 

3. side

4.  influence

Question ID : 26433070590
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Individuals might not always do just what we (1)________like them to do. No matter how
justified or marginal our requirements (2)________ we will occasionally be disheartened.
Instinctually, when our expectations are not fulfilled, we become hurt and upset. Altercations
terrify us since they are uncomfortable and have the potential to destroy relationships.
However, avoiding confrontation does not (3)________the dispute, as unanswered questions
also have a detrimental (4)________on relationships. Indeed, the true source of (5)________
is our confrontational style, not the problem itself.

SubQuestion No : 95
Q.95 Select the most appropriate option to fill in blank number 5.
Ans 1. failure

2. contestation 

3.  issues

4. quarrel

Question ID : 26433070591
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Due to the fact that Shakespeare didn’t produce an autobiography, (1)______ is known about
many parts of his life and some of it remains a (2)______! Sometime before 1590,
Shakespeare left Stratford. But where did he go? Again, it is not clear why, although one story
suggests it is because he had been forced to run away from home after poaching deer! Little
is known about what he did but eventually he travelled to London, which was the biggest city
in England, though much (3)______ than it is today. London provided opportunities
unavailable anywhere else in the country and many poor people went hoping to make their
fortunes. Importantly for Shakespeare, London had theatres! The first of these was opened in
1576 and by 1590 there were several ‘playhouses’ including the Rose, the Theatre and the
Curtain. (4)______, Shakespeare became an actor. However, he was soon writing plays too
and by 1592, Shakespeare’s work was being spoken about. One (5)______ writer – Robert
Greene – wrote rude things about this newcomer and referred to him as an ‘upstart crow’.
Disaster struck in 1593 when a terrible disease called the plague hit London. Thousands of
people became unwell and died and this caused the theatres to shut. Rather than giving up,
Shakespeare turned to writing poems rather than plays and soon the theatres were re-
opened.

SubQuestion No : 96
Q.96 Select the most appropriate option to fill in blank no. 1.
Ans 1. insufficient

2.  little

3. miniscule

4.  ample

Question ID : 26433070676
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Due to the fact that Shakespeare didn’t produce an autobiography, (1)______ is known about
many parts of his life and some of it remains a (2)______! Sometime before 1590,
Shakespeare left Stratford. But where did he go? Again, it is not clear why, although one story
suggests it is because he had been forced to run away from home after poaching deer! Little
is known about what he did but eventually he travelled to London, which was the biggest city
in England, though much (3)______ than it is today. London provided opportunities
unavailable anywhere else in the country and many poor people went hoping to make their
fortunes. Importantly for Shakespeare, London had theatres! The first of these was opened in
1576 and by 1590 there were several ‘playhouses’ including the Rose, the Theatre and the
Curtain. (4)______, Shakespeare became an actor. However, he was soon writing plays too
and by 1592, Shakespeare’s work was being spoken about. One (5)______ writer – Robert
Greene – wrote rude things about this newcomer and referred to him as an ‘upstart crow’.
Disaster struck in 1593 when a terrible disease called the plague hit London. Thousands of
people became unwell and died and this caused the theatres to shut. Rather than giving up,
Shakespeare turned to writing poems rather than plays and soon the theatres were re-
opened.

SubQuestion No : 97
Q.97 Select the most appropriate option to fill in blank no. 2.
Ans 1. mystery 

2.  exotic

3. secret

4. history

Question ID : 26433070677
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Due to the fact that Shakespeare didn’t produce an autobiography, (1)______ is known about
many parts of his life and some of it remains a (2)______! Sometime before 1590,
Shakespeare left Stratford. But where did he go? Again, it is not clear why, although one story
suggests it is because he had been forced to run away from home after poaching deer! Little
is known about what he did but eventually he travelled to London, which was the biggest city
in England, though much (3)______ than it is today. London provided opportunities
unavailable anywhere else in the country and many poor people went hoping to make their
fortunes. Importantly for Shakespeare, London had theatres! The first of these was opened in
1576 and by 1590 there were several ‘playhouses’ including the Rose, the Theatre and the
Curtain. (4)______, Shakespeare became an actor. However, he was soon writing plays too
and by 1592, Shakespeare’s work was being spoken about. One (5)______ writer – Robert
Greene – wrote rude things about this newcomer and referred to him as an ‘upstart crow’.
Disaster struck in 1593 when a terrible disease called the plague hit London. Thousands of
people became unwell and died and this caused the theatres to shut. Rather than giving up,
Shakespeare turned to writing poems rather than plays and soon the theatres were re-
opened.

SubQuestion No : 98
Q.98 Select the most appropriate option to fill in blank no. 3.
Ans 1.  younger

2. smaller 

3. larger

4. bigger

Question ID : 26433070678
Status : Not Answered

Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Due to the fact that Shakespeare didn’t produce an autobiography, (1)______ is known about
many parts of his life and some of it remains a (2)______! Sometime before 1590,
Shakespeare left Stratford. But where did he go? Again, it is not clear why, although one story
suggests it is because he had been forced to run away from home after poaching deer! Little
is known about what he did but eventually he travelled to London, which was the biggest city
in England, though much (3)______ than it is today. London provided opportunities
unavailable anywhere else in the country and many poor people went hoping to make their
fortunes. Importantly for Shakespeare, London had theatres! The first of these was opened in
1576 and by 1590 there were several ‘playhouses’ including the Rose, the Theatre and the
Curtain. (4)______, Shakespeare became an actor. However, he was soon writing plays too
and by 1592, Shakespeare’s work was being spoken about. One (5)______ writer – Robert
Greene – wrote rude things about this newcomer and referred to him as an ‘upstart crow’.
Disaster struck in 1593 when a terrible disease called the plague hit London. Thousands of
people became unwell and died and this caused the theatres to shut. Rather than giving up,
Shakespeare turned to writing poems rather than plays and soon the theatres were re-
opened.

SubQuestion No : 99
Q.99 Select the most appropriate option to fill in blank no. 4.
Ans 1. Firstly

2. First of all

3. Primitively

4.  Initially

Question ID : 26433070679
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Due to the fact that Shakespeare didn’t produce an autobiography, (1)______ is known about
many parts of his life and some of it remains a (2)______! Sometime before 1590,
Shakespeare left Stratford. But where did he go? Again, it is not clear why, although one story
suggests it is because he had been forced to run away from home after poaching deer! Little
is known about what he did but eventually he travelled to London, which was the biggest city
in England, though much (3)______ than it is today. London provided opportunities
unavailable anywhere else in the country and many poor people went hoping to make their
fortunes. Importantly for Shakespeare, London had theatres! The first of these was opened in
1576 and by 1590 there were several ‘playhouses’ including the Rose, the Theatre and the
Curtain. (4)______, Shakespeare became an actor. However, he was soon writing plays too
and by 1592, Shakespeare’s work was being spoken about. One (5)______ writer – Robert
Greene – wrote rude things about this newcomer and referred to him as an ‘upstart crow’.
Disaster struck in 1593 when a terrible disease called the plague hit London. Thousands of
people became unwell and died and this caused the theatres to shut. Rather than giving up,
Shakespeare turned to writing poems rather than plays and soon the theatres were re-
opened.

SubQuestion No : 100
Q.100 Select the most appropriate option to fill in blank no. 5.
Ans 1.  jealous

2. bad 

3. rude

4.  inferior

Question ID : 26433070680
Status : Not Answered

Chosen Option : --
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